STATE LEVEL NTSE -01 DEC. 2013 CHHATTISGARH

MODEL ANSWER

PAPER —1 (MAT & LANGUAGE — Hindi / English)
Section - |
MAT  (Question no. 1 to 50, Total Questions 3 50
U B. 1 2 3 4 5 6 7 8 9 10
SaTR& | C A B C D C | oo B D C
U &. 11 12 13 14 15 16 17 18 19 20
IR P D D B C B C D B B C
U B. 21 22 23 24 25 26 27 28 29 30
IR P C B B A C B B B D D
Ue B, 31 32 33 34 35 36 37 38 39 40
IR P D B C A C A C B D B
Ue B, 41 42 43 44 45 46 47 48 49 50
IR P C B D A C A C B D C
Section - |
HINDI (Question no. 51 to 90, Total Questions F 40
U B. 51 52 53 54 55 56 57 58 59 60
IR P D D D B B D D A C
U B. 61 62 63 64 65 66 67 68 69 70
IR P B C D B C A C B D C
U B. 71 72 73 74 75 76 77 78 79 80
IR P C B A A C B A D B C
U B, 81 82 83 84 85 86 87 88 89 90
IR P D B A D A D B C C D
ENGLISH (Question no. 51 to 90, Total Questions F 40
U B. 51 52 53 54 55 56 57 58 59 60
IR P C A B D B D C A B
U B. 61 62 63 64 65 66 67 68 69 70
SISAC B D C B D A B C C D
U B. 71 72 73 74 75 76 77 78 79 80
IR P B A A C D B B A
U B, 81 82 83 84 85 86 87 88 89 90
IR P C A C B D C B C B C
/
GEIGED
X1y Sfared Srg<er Ud Uil aRvg

BTG



STATE LEVEL NTSE - 01 DEC. 2013 CHHATTISGARH
MODEL ANSWER
PAPER — | MAT (Section — 1)

> STR © U | @
1 Jtfepar [1 w9 [ faear = g [ ger [ Wifd
2 =Ear [ s O gear [ ==r [ 390
2 6 %3=(6x3x2)}2=38, %7 =(5x7x 2} 2 =72,
12 5= (12 x5% 2}t 2 = 122, ¥4 = (7 x4%x 2)+ 2 =58
«—5
4 1= 4
2 «— 3
5
6 5 x6x4 =12, 6 xX7x5= 21, 4 x8x 1G6= 32
10 10 10
. TEN BN @ 3faR FCaY 124 b WM WR 144 BY TAT| EUT JfS & BROT |1
RIS & U & 01 3 |
8 5X6%X 8+ 7%x4x 9 =492, 7 x5x4 6x8x 9 =572, 4x3x5 7x2x5 =130
9 23 +13+33=36, 03+43+33=91, 43+ 23+13=73
10 112 - 12 =120, 7% 22 =45, 52 32 =16
oflel
77 /
e/ /
11 Bl -, / —TeAT
/
Tl ‘
12
13
14
15
3 _ = 3 =
16 33 -3 =24, 838 =504
a b c a b c¢c d e f
17 1 2 3 (3+1)2 =186, 1 23 4 5 6 (6+1)2=49




NW N NE

B w E
1357
18
S
19| B
20 C
21| C |f<w, 3d vd ged 80 =22 +3 =25
22 | B |fcwr, 3mad, Bl vd 9 3 =8
23| B |3 -3, 43-4, 5-5 6%-6, (73-7)=336
oa | A v~ | = 2, 3,5,7,11, 13,17, 19, 23, 29, 31, 37
I~ =T+ 1= 3, 4,6, 8,12, 14, 18, 20, 24, 30,32
2+1 =3+1=4+1 +1=6+1=7
25| C |2+1=3+1=4+1 +1=6+1=7
541 =6+1=7+1 +1=9+1=10
3 3
NN
~ B E H
q 3 3
> K N Q
26| B g 3 3
SN2 N
_ T W 4
9 3 3
A NN
C F I
First Place 2, 7, 14, 23, 34, 47
27| B 5 7, 9, 11, 13
Second Place Z, Y, X, W, V, U
Third Place 5,7, 9, 11, 13, 15
It be pee= roses are blue (1) Sik _hee= red flowers (2)
o8| B Pee mit hee= flowers are vegetables (3)
From1land 3 pee = are, From 2 and 3 -hdwer,
Sik = red, Vegetables = mit, Sod re sik
29 rosesar di It & w&ar & a1 be
30 Vegetables are red flower = mit pee dsike
31 Geweell, adll, URTPIT BT IUINT @1 & oy Td FARDIT BT SUANT FA+ & oy




2| & UHIST, BRI, DI BT g DA A, AR I A6 Hred A Aol |
37 AN 376 3T T |

33| C |ya.uae, WrE — fore #, Hophelc’y — IO H

34| A |qUl 99, WA — 969 @ oy,  TqA — BT SUANT 3

35| C |3ma, v, Byol — fg faffm, o9 — =0 faft

36| A |9Tg B AR ANEl, FARIA—INETT

37| C |98YS & 3fax 37, I & IR I

38| B |¥hd & A<} HEl, Thal b 3R BIA

39 | D |¥ZaN, yrafde frerd & Addl 8, AR Sfaex & Addl T |

40 | B |HIoF @ SIHId Aeoll, WA & 3HId Hel

41 | C |4, R, faars, g, Sifdd AR

42 | B |99, Ol US, ddel, <dd

43 | D |H, 9ferd, STol, B, |oll

A4 | A | eTTH, GRIET, 3ASH, AlDN, AU

A5 | C |9e9 & d9d &4 H d, el |9, @Y, wifeaq

U HHID 46 ¥ 50 B foIg —

HEAD = adeh, NOSE = hnor, GHOST = efnqr, ROWNHKI= hlongsx,

ENOUGH = efhnox, MASTER = dhpqgrs

Sl & A w O=n, E=h, S=r, N=o0, H=ze, A=d, =T=q, G=f, U=x

46 | A
47| C
48 | B
49 | D
50| C

=l
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CHHATTISGARH

STATE LEVEL NTSE - 01 DEC. 2013,

MODEL ANSWER

PAPER — I 1 (SAT)

W@.DBDADACBDADBACC
. | O (@) (o) (@)]
Ee 2R RIRIQIZ|N 2 38 858 8|8
waCDDCDBAABDCBBCA
- ™ (o] <t
WG&&6M%6W%&NHDR7E
Es o</ 0 o|l<|0|lo|<|o <|<|o 0|0
W.678901234567890
5 S S S A S e~ 2 N o o W Y W N ' T N o W A W O B o T I o W Y o N B Yo B BT
WaDBBABDABDCBBADA
. o o
Ee 288388/ 5(38/%/F(8/9|3 Y
waADBCADBADCDBCAB
] O |~ 00| OO O] +H | N
WGllllZZZBM%%W_%w%
W@.DBBCBDDAACAADCB
W5123456789mﬂ__W__BM_%

=
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MODEL ANSWER

NMMSE - 01 ' DEC. 2013 PAPER -1 (MAT)
q:: SR @ U § d®
1 20+2 = 22+4 = 26+8 = 34+16 = 50+32 = 82
2 2+11 =13+11 = 24+11 = 35+11=46
3 2°=8, £=64,... 13=2744,
4 2/3 H HIM: 2,357,111 BT 0T &I ¢ |
LIRS
5 4 /, 7, 12, 9,61
\ /\ 5N 6
6 R— S;A— B;+—> J ...tce
7 T IV,E G1;( C’e E’II J’ ! T
BILASPUR @& TR # LAUH T A &1, A T U DT @1 U+ | &1 =
8
foram 21
9 g7 fawai # fouy Iraar 3+7+2 = 12 = 4%
10 fasm= # foRiy Irgar ue arell @ fod W1 = 7+5+3+12 = 27 = 9%
11 ABC @& 91« CDEE A—»C, B» D, GC» E zIfe |
BFJ— EIM
12 BCDE , FGH , JKLM sdfe
13 A, B, C, D, E F G HI J, K
L I F
K\ / H\ / E\ QK AC
14
HG/ ED et
A BCDEFGHIJKLMNOP
15 ANEVAN /\ /\ /
16 (4+5+6)? = 225, (2+3+5% =100, (3+6+7) = 256

17

2°4+3P+4°+5% = 54 ; . 34%+5%+6°= 86




18 B 445=9 & 4x5=20, ..., 944 =13 & 9=86
19 D 4x5x7 =140, ..., 5x4x6=120.
20 B |6%x5-4x3=18,..., 7x6-5%4 =22
21 A
22 D
23 A
24 B
25 A
A
F Q/\ H E B&, DEF, AGH, EHI,
ClJ, DJK, BKL, FLG.
26 C |
B c
J
D
A B c ABG , HBG, CBI, HBI,
DIE, EH, FEG, GHE,
27 B G H | BGH, EGI, IEB, GEB . Total - 12
|
F E D
A B c D
ABFE, BFGC, GHDC, EFJI, FGKJ,
E : H GHLK, 1INM, JKON, KLPO, ACKI,
28 C BDLJ, PNFH, MOGE, ADPM  Total - 14
L
M N 0 P
A B C
BCJK, BCDL, BCEF, LDEF,
GFMH, GFLI, HMIL, KJLD,
29 D | GFBA, ABLI , ACEG, GEDI.
H M ACEG. Total 13
G F
ABC, DEC, KJl, LIH, EFC,
c FU, FEJ, FCl, IEC, IEJ,
B E CEJ, CJIl, BGC, GCI, GIH,
GHB, BCH, CHI, CBI, HBI Total-20
30 C H J




31| C |V U9 §9 H BT & A $UH, goi o] AP ¢ |
32 A | @M, T W 9HEea g |

33| A | GTOET &7 He" a9 S W 2

34 A | TSI oAl @ UREBAT B T |

35 A | ATHIOT BT FET YR 99T 4 7 |

36| D |HFR AgHY & IR AT T |

37 C | O & = Tad 2|

38 B |BAs ()& WM w7

39 D |00z vs Ay H 98 B |

wl ¢ TE O =— BI AP DI IR BT AT |
41| A | 24344°=29, ..., B9+10° = 245

42 | A | (2+3+4)*=81, ..., (8+9+16F 729

43| B |28-(14+13)=1, ..., 25-(9+4)=2

44| C |%(7+5+6)=9,..., Y% (10+9+7)=13

45 D |2%+3-1°=12,..., B 7°-4 =58

46 A

47 A

48 A

49 A

50 A

511 B | (21y-(17f =38x4 => A=2

52 B |99 ¥ 11 &I 9T SIIAT 8 AT AYH 45 H 11 A 9RT I UR ATH 1 G |
53 B |3® C<Bam@ C-B<O

54 B E qdd el 8 |




T 2 7365 Ol fb 3 & 95T 2|

55
56 A ®U ¥ BN §
57 T IR IRAY 9T & |
58 CDFG Haadl =18l © el &R 8l & |
59 8, 27, 125, 216, 343, 51 I &1 Ud 3 2|
60 13x3 =39, 13x5 =65, 13%781, 13x6 =78
61 UATIHR A ¥EH WX 3TN = 26
62 YJATTHR HIT X9 UX 3N = —15
63 TER @& 1S &1 fUar 99 dfzer &1 ff T § | o 98 SR 989 © |
b A, CHT fidr € 3R C, D ! 98 &, 31d: D, Adl 93 2| Ffb D, B &1
64 gF § 3k B, D @l #f g2 | rdfd B, Ad ueh B | E, A &I 918 2 37k B,
Eat 9T g1l |
I
65 25m [J A
25m
< fayor
66 Y B IR Y 3R AT B 31X AL BT |
fRreres, RacTrSt &1 W1 Hehal § AR &1 W1, et e & 9 APl & 3R
67 & N RS, w1 & f woper & iR A& of |
68 Iar A 8RNI 7, Bl AHIEN T |
69 IRYATA & 2R I AT T B © |
70 U 67 & AR |
. . . . YR SHH R 3k C, D
71 C E B A D

12

1900 # 400 BT 9NRT =&} ST |




73 C | T e W AR SR 2

74| A | BHE B HA W= = 15+13-1 = 27

75 D | YR MM TR #2Y SUH=>Udha>Td>THR | o1 A 99 997 ¢ |

ged HHID 76 W 80 T NEIA —

BT 9eT
B T
B A > E
T g
BT el
C ard8d F
76 A Al E T
77| ¢ |E®rufd Ag)
78| D |ABDF TU&Y |
79| ¢ |FE® g3 g
80/ A |AB T&H IR & WS & Tl F,C &I TS B |
81 C
82 A
83 B
84 C
85 B
86 D
87 C
88 B
89 C
90 B
o&ﬁ//
NEICED

1Y 2l STgAgT Ud UiRieror uikug,
TANG




MODEL ANSWER

PAPER — | | (SAT)

NMMSE 01% DEC. 2013
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% | @
16
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U | 3X U3 | 3} YR | 3} YR | 3} U3 | 3} YR | 3X

D, | D
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